<?xml version="1.0" encoding="UTF-8"7>
<VYKAZ VERZE="43">
- <VETA>
<RED_1Z0>600039803</RED_ 1Z0O>
<1Z0O>150006110</1Z0>
<CAST>01</CAST>
<TT>B</TT>
<KOD_NFN>03020AA01</KOD NFN>
<FN>0</FN>
<DAT ZAH>20.3.2021</DAT_ZAH>
</VETA>
- <VETA>
<RED_1Z0>600039803</RED_1Z0O>
<1Z0>150006110</1Z0>
<CAST>01</CAST>
<TT>B</TT>
<KOD_NFN>03B501A20</KOD NFN>
<FN>1</FN>
<DAT ZAH>20.11.2020</DAT ZAH>
</VETA>
- <VETA>
<RED_1Z0>600039803</RED_1Z0O>
<1Z0>150006110</1Z0>
<CAST>01</CAST>
<TT>B</TT>
<KOD_ NFN>03B54AA20</KOD NFN>
<FN>1</FN>
<DAT ZAH>1.1.2021</DAT ZAH>
</VETA>
- <VETA>
<RED_1Z0>600039803</RED_ 1Z0O>
<1Z0>150006110</1Z0>
<CAST>01</CAST>
<TT>B</TT>
<KOD_NFN>03B54BA20</KOD NFN>
<FN>1</FN>
<DAT ZAH>16.4.2021</DAT_ZAH>
</VETA>
- <VETA>
<RED_1Z0>600039803</RED_1Z0O>
<1Z0O>150006110</1Z0>
<CAST>02</CAST>
<TT>Z</TT>
<KOD_NFN>04C504A30</KOD_ NFN>
<FN>0</FN>
<DAT ZAH>1.9.2020</DAT ZAH>
</VETA>
- <VETA>
<RED_1Z0>600039803</RED_1Z0O>
<1Z0>150006110</1Z0>
<CAST>02</CAST>
<TT>Z</TT>
<KOD_ NFN>04C53AA20</KOD NFN>
<FN>1</FN>
<DAT ZAH>20.9.2020</DAT_ZAH>



</VETA>
- <VETA>
<RED 1Z0>600039803</RED 1ZO>
<1Z0>150006110</12Z0>
<CAST>02</CAST>
<TT>Z</TT>
<KOD NFN>05C53BA05</KOD NFN>
<FN>1</FN>
<DAT ZAH>1.12.2021</DAT ZAH>
</VETA>
- <VETA>
<RED 1Z0>600039803</RED 1Z0>
<I1Z0>150006110</120>
<CAST>02</CAST>
<TT>Z</TT>
<KOD NFN>03020AA01</KOD_ NFN>
<FN>0</FN>
<DAT ZAH>4.5.2021</DAT_ZAH>
</VETA>
- <VETA>
<RED 1Z0>600039803</RED 1Z0>
<170>102261300</120>
<CAST>01</CAST>
<KOD NFN>04D701A03</KOD NFN>
<FN>1</FN>
<DAT ZAH>10.5.2022</DAT ZAH>
</VETA>
- <VETA>
<RED 1Z0>600039803</RED 1Z0>
<[Z70>102261300</120>
<CAST>01</CAST>
<KOD NFN>03020BA03</KOD NFN>
<FN>1</FN>
<DAT ZAH>5.9.2021</DAT_ZAH>
</VETA>
- <VETA>
<RED 1Z0>600039803</RED 1Z0>
<[1Z70>102261300</120>
<CAST>01</CAST>
<KOD NFN>03B501A20</KOD NFN>
<FN>1</FN>
<DAT ZAH>3.2.2022</DAT ZAH>
</VETA>
</VYKAZ>



